Compound Interest

INSTALLMENT

Class Notes By Aditya Ranjan
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or all govt. exa BY ADITYA RANJAN SIR

Te) 1. A sum of Rs. 2100 is to be paid back in 2
equal annual installments. How much is

each installment if the interest is
compounded annually at 10% per annum ?

HXIO : (Ix1) 2100 &, ohi YT 2 aTfieh sRral TRl H 31aT

_ HET B UAw T @ gni afe =mw arfdes
' HAIfSd 2T § 991 Sa1s ht 97 10% Widay g

o \a) Rs. 1210

AUR-x 19, (b) Rs. 1240
(c) Rs. 1230
(d) Rs. 1220
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o 2. A sum of Rs. 4,620 is to be paid back in 2
equal annual instalments. How much is
each instalment (in Rs.) if the interest is

11X10 LIX1] compounded annually at 10% per annum?
) lg?o-. I;JQ‘ %, 4,620 S YT 2 =@} arfder fowmvatl o amow

X WA i St ¢l qE AT I AMbE 3T A
%gaxm Thdfg B ATl 10% aTfdes § o Uedeh femvd

Y (% °) ferat gri?
< 966 SSC CGL 13.04.2022 (2 Shift)
= \(9!/2,662 (b) 2,420

(c) 2,552 (d) 2,750



o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

10/ = —,—’5 3. A man borrowed some money and
returned it in two equal instalments of
(Rs.3,025 each.) If the rate of interest is

X6 [ 1%I) 10% per annum, compound annually,
160 10| find the sum borrowed.

: ayo Ush Afed 3 &9 U9 3ur fau 3w 39 3,025
09 & 2T |@urE fovalr o amoa & fean afs

2 2 : .
Bess TS Rl 27 10% 9fd a9 g, aArfteh erehdiag, 4l
\XZlD ~ : ~

e IUTT & Mg YT ATH Shifql
£, S, SSC CHSL 02/06/2022 (Shift- 2)

S
—20_ (a) Rs.5,575 (b) Rs.6,250

(c) Rs.6,525 \(d)/Rs.S,ZSO



MATHSE)I: or all govt. exz By ADITYA RANJAN SIR

107 = 10 4. loan is to be repaid in two equal yearly

instalments. If the rate of interest is 10%

Nx1o0 )X per annum, compounded annually, and

o0 . 12 each instalment is Rs. 6,897, then find the

total interest charged.

30 Ush BUT &bl g1 WU arfdes Tl W S[ahrar Sl

e £| Ifg =rs & 2T 10% arfies &, W arfies ®U

2897 x3, " wehdlsg &l & 31T U T &, 6,897 @l
e g, @ forar s aren we s J| it

= ISQH . SSC CHSL 27/05/2022 (Shift- 1
o~ (a) Rs. 1,644 (b) Rs. 1,824

(c) Rs. 1,914 (d) Rs. 1,734
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povt. ex: BY ADITYA RANJAN SIR

A loan is to be returned in two equal
yearly installments. If the rate of interest
is 10% p.a., compounded annually and
each installment is Rs 6534, then the total
interest charged (in Rs) is:

feradt orT W1 I AU Arftes foRvar o amow S
g1 afe = 2% ufd av 10% &, fsmat o arfies

Tehdlg YN O gl 2, 3T U fohva 6534
wUY g TOIET AT el oS (W W) AT Rl

SSC CGL 20/08/2021 (Shift 03

(a) 1728 (b) 1867
(c) 1642 (d) 1579




o) 1A AMATHSE1I: or all govt. ex: By ADITYA RANJAN SIR

\y A man borrowed money and paid back in
two equal annual instalments of Rs 1,089,
at 10% compound interest compounded
annually for 2 years. What was the sum (in

Rs) borrowed?

I3 TEH, 10% aATiHeh wehglag =T @l 87 UT
2 a4 & fauw Twr suw d@r § 3T ®ua 1089
@i a1 STET atfdes Tyl | ama® WA &I
2| afe =T &t T arfies w9 o g4t § A 39
& g T (wug ") FE w

SSC MTS (Shift- II) 18/10/2021

(a) 1890 (b) 2178
(c) 1800 (d) 2090



w0 AN AMAT HSEG0): or all govt. exz By ADITYA RANJAN SIR

47 =L 7. A sum of money was borrowed and paid back

25
in two equal annual instalments of Rs(980)
allowing 4% compound interest. The sum (in

X 05 RA6EXK26
e Rs, to the nearest tens) borrowed was:
= U YT 3UW o ME 3T Rs.980 FH I WU

|Q1;S mmnwwwnﬁmw
980X 191< wehdlg &t forar am 397 &t 78 (Rs. ¥,
St~ faehean ag1e o) Tarasr 4i?
Leq

—  '84g.3;—s(ay 1850 (b) 1960
(c) 1760 (d) 2050




w0 AN AMAT HSEG0): or all govt. exz By ADITYA RANJAN SIR

\9./ A sum of Rs. x was borrowed and paid back
in two equal yearly installments, each of
Rs. 35,280. If the rate of interest was 5%,
compounded annually, then the value of x is:

% X @ Uah YT U &t W8 3T 3T qImar
2l ey arves Tt ° ferar war faad o=
feea %, 35,280 @t 9 afe arfies wshgfg ==
aﬁE’TS%%,?ﬁx Wﬂﬁ?ﬁﬁl

SSC CGL 07.06.2019 (3 Shift)

(a) 64,400 (b) 65,600
(c) 64,800 (d) 65,400
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or all govt. exa BY ADITYA RANJAN SIR

Neeraj took Rs. 6800 as a loan which along
with interest is to be repaid in two equal
annual installments. If the rate of interest

'lg"iompounded annually, then the

value of each installment is :
HITS A 6800 ¥, 3UN & ®U °H fau fa=ar ==

gfed, a1 9u= arftes e o qas fear s

5 7fz it w0 A THE = 12%%

e, Auas frawrafor g ?
(a) Rs. 8100 (b) Rs. 4150
\(s) Rs. 4050 (d) Rs. 4000



: or all govt. exa BY ADITYA RANJAN SIR

10. Surekha borrowed a sum of money and
returned it in two equal annual
intallments of Rs. 5547 each. If the rate

1
40xu3 423yyn of interest was 7 2 % p.a. compounded yearly,

v A
™ (43)%  the the total interest paid by her was:
5547 =i a1 aTAT A fepwat | =2t faan afe

=TH & 27 grids; ©9 9 Sars9 uv 7%% ufa

8 = 14 .

~ au o, 9 39 g faar A wme se g
SSC CGL MAINS 15 Nov. 2020

(a) Rs. 1,144 \(b)/Rs. 1,134

(c) Rs. 1,096 (d) Rs. 1,126




TIPS M BY ADITYA RANJAN SIR

A loan of Rs. 8,925 is to be paid back in

two equal half-yearly instalments. How
X 95 96x26 much is each instalment if the interest is

625 676 compounded half-yearly at per annum?

ki %. 8,925 T U A1 UM rfeniier fehwer o SR

35T ST 8 afe = ardarfies ©9 ¥ 8% ufd ay @ X
‘%EQSXMS ¥ wafad forar s g, O uees fona ferasit 2rii?

el e SSC CHSL 24/05/2022 (Shift- 1)
=3, (a) Rs. 4,372 \)/Rs 4,732

(c) Rs. 4,654 (d) Rs. 4,564



BY ADITYA RANJAN SIR

@ A loan is to be returned in two equal

yearly instalments. If the rate of interest
is 10% p.a. compounded annually and
each instalment is Rs 5,808, theof
the total interest (nearest to a Rs) charged

in this scheme is:

U W1 2T WA arfdes famval o arow feam s
g1 afg =ms 3T 10% Wid a4 g1 "o Jwats
AT U T 5,808 U €, a 3H WS o
fouw s a5 =S W 60% (U ° fazan )

ATd HT

SSC CGL MAINS 29 Jan 2022
(a) 917 (b) 911
(c) 913 (d) 922



s ATHSKI): or all go X3 BY ADITYA RANJAN SIR

do/ = ‘51.-,‘ 13. A sum of Rs. 45500 is to be paid back in 3
equal annual installments. How much is

180 Q6 ‘(6'*)(5 61)(6’2e]1<:h installment if the interest is
150 &6 €x52 2y 6.compounded annually a @ per annum ?
2526 | 53 3 ufy 45500 W THT H 3 wTAT arfies fehe W
89 €49 FET N | U o @ i W Wt Aty
4l® S Alfieh TS 2l & 99T & a¥ 20% Wiaay gl
TE500 Xau4 \(a)Rs. 21600 (b) Rs. 21700

355 (c) Rs. 21800 (d) Rs. 21900



ATHSKI): or all g¢ PXE BY ADITYA RANJAN SIR

\1/4. A sum of Rs. 25220 is to be paid back in 3
equal annual installments. How much is
each installment if the interest is
compounded annually at 5% per annum ?

gfg 25220 &kt T 3 SrET Arfies forea | 31T
F E) Uk feRt s 9T @aTe afe sre arfden
AT 2iar & 99T =T 27 5% Wiaad £

(a) Rs. 9361

(b) Rs. 9261
(c) Rs. 9621

(d) Rs. 9216



ATHSEI): . oovt. ex: By ADITYA RANJAN SIR

\/5/ A sum of Rs. 52725 is to be paid back in 3
equal annual installments. How much is

each installment if the interest is
compounded annually at 12% per annum ?

52725 ekt TIYT w1 3 aXraw fepeal o 31ET AT
2| veh T foratt ® afe = wfave 12% wfaad
T T9T ST ATATT HATAT giar 2l
(a) Rs. 21952
(b) Rs. 21592
(c) Rs. 21852

(d) Rs. 21259
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ATHSKI prr all gg D.¢ BY ADITYA RANJAN SIR

16. A sum is to be paid back in 3 equal annual
installments. The interest is compounded

o 5, annually at 30% per annum. If each installment
O3~ 13X13 beRs.thenwhatisthe_snm?

oox1 69X

-l &‘%Mumﬁa‘mwﬁrﬁﬁmm%u
- gfe =TS 9TemET GAed g7 £ Oa9T ST il 27

30% Utaad &1 afe we T 21970 & ar Tfyn
AT HI

(a) Rs. 39800 \@/Rs. 39900

(c) Rs. 39950 (d) Rs. 39990




ATHSK1):

BY ADITYA RANJAN SIR

i
Elx_l% -4000] ¥H = 3300 17. A man borrowed a certain sum and agrees

1O

= %X ~Yppo = 1000
) /J]lft :_,-1—19%@‘0\l

to repay it by paying Rs. 4000 at the end
of first year and Rs. 7700 at the end of

second year. If the rate of compound

interest compounded annually is 10% per
annum, then find the sum (in Rs.)

a4 & 374 H 4000 ®UF 3 I TW & 3 H
7700 ®UY F YA Fleh 39 M & 10 Tgad
# T afE arfie ®U ¥ HAfaa Swdafs sard
& 3T 10% ufd ad g, 9 7idr (Fua o) 4 FHifaw

(a) 11500 (b) 11000
(c) 9000 (d10000




yovt. exz BY ADITYA RANJAN SIR

Atul borrowed a sum of Rs12000 and

agreed to repay it by paying Rs 4800 at the
end of first year and Rs 9240 at the end
of second year. What is the rate of

compound interest compounded annually?
AqA U 12000 @t [T IUW & € 3T Uge
ad & 3id § HUF 4800 30T FET A€ B 37d W
9240 FUA T YA &ieh 39 HdhM @ TelT a1
EIAT §| ATfeh ehdlg TS @l 27 AT il

SSC CGL 24/08/2021 (Shift 02

\3@/10% (b) 12%

(c) 8/5% (d) 8%



A man borrowed Rs. 9000 at the rate of

19.
@Dyx.ll 3000]" LL- 3000 X —L “*=0 10% p.a. compound interest. At the end of

every year he return Rs. 3000. At the end
of 3rd year how much money should he
paid so that the whole sum be paid.

Ush TEHT 9000 &, 10: aTfteh whglg TS a7
Ut 3UR foam v 99 & 3= W a8 3000 .
ATH & 4T g1 9 99 & 37 W 3W 30 T
mwmmmﬁﬁswﬁwaﬁr

\391/5049 (b) 5050

(c) 5070 (d) 5060



